FBODIETIVE ESBOMTE10)

_A_B _ 9 _® _ _R/I5K

(1)2X§= (9);x§=
@) 2x- = (10) 653 =
()G = (-2l =
42 = (1211 =
(5) —Jx = (13) 2 <1 =
(6) 43 = (14) 3 < 1 =
(7);><§= (15);><2:
(8);><;:

COTY T ME TEH/SSH A R (https://chugakujyuken-sansuu. com/) & YEHTH Yo O—KTEET,



FBONMIETIVE EFBONTE(0)

w
X
w

(D

(2) 5>

|
[\®]

[y
X
[y

3)

(-
X
N

4

5—4—1><3
()7 i

(6) 1 21

63 3

(7) 1 84

2-1 9

81><1
()9 ;

9 (9) 1 S8 = 5
32 2 8 16
5 (10) 1x 5 =5
14 7 61 7
1 (1) 2 x 1 = 2
18 9 3 27
S (]2) 1 «1 =1
32 4 9 36
3 (]3)_2_1>< 1 — 1
7 5 21 5
1 (14) 3 o1 — 3
9 8 5 40
4 (15) 1 X—3-1 — 1
9 31 4 4
1

18

DT M TEHNSH AR (https://chugakujyuken-sansuu. com/) & YERTHA YL O—KFTEET,



